1 The diagram shows a mercury manometer used to measure the pressure of gas in a container.
Atmospheric pressure is 76 cm of mercury.
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What is the pressure of the gas?
A 56.cm of mercury
B 68cm of mercury
C 84.cm of mercury
D 96cm of mercury
mMs-1 | B
2 The diagram shows a manometer with one side connected to a gas cylinder and the other side
open to the atmosphere.
gas cylinder
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Which conclusion can be made using only the information from liquid levels in the manometer?
A The density of the gas is less than the density of air.
B The density of the gas is greater than the density of air.
C The pressure of the gas is less than atmospheric pressure.
D The pressure of the gas is greater than atmospheric pressure.
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3 A water manometer is connected to a gas supply.
gas =ik
supply E
= water
There is a gas leak and the pressure of the gas supply falls.
What happens to the water level at P and what happens to the water level at Q7
water level at P | water level at Q
A falls falls
B falls rises
C rises falls
D rises rises
Ims3 |ic
4 A manometer is used to measure the pressure of the air in a container.
manometer—___ |
connection
Y to container
h I
L liquid
Which change would give a bigger value of height h?
A using a less dense liquid
B using a more dense liquid
C using a narrower tube
D using a wider tube
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The diagram shows a manometer containing a liquid. The manometer is used to find the
difference between the pressure of a gas and atmospheric pressure.

Which distance represents this pressure difference?

gas
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pressure A
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6 A manometer is used to measure the pressure of a gas supply.
manometer—__ |
connection
————— to gas supply
hI
___________ liquid
Which change gives a greater value of height h?
A using a less dense liquid
B using a more dense liquid
C using a narrower tube
D using a wider tube
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